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8.

9.

Area-3

. Find the area of a square having 48 cm perimeter.

. Perimeter of a rectangle is 64 cm and its length is 24 cm. Find out the area of the rectangle.

. Perimeter of a rectangular field is 180 m and its breadth is 30 m. Find out the area of the rectangle.

. Length and breadth of a rectangle is 15 cm and 12 cm respectively. What is the area of the rectangle?
. Side of a square is 15 cm, find out the area of the square.

. Are of a square is 81 cm?, find out the sides of the square.

. Area of a rectangle is 180 cm? and its length is 15 cm. Find out the breadth of the rectangle.

Area of a rectangle is 77 cm?and its breadth is 7 cm. Find out the length of the rectangle.

Perimeter of a square is 60 cm. Find out the area of the square.

10. Which has the bigger area, a square with each side equal to 4 cm or a rectangle with length 7 cm and
breadth 2 cm?
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